SFIS4EE THITETE (1450) (AFE) ARI546H29 A
HosH

THATHTIE BHATH T

A | 2 1T 1 #5 JLgE 11§ fa ] | B 74 fa [ 1%

! ii@é/&?ﬁﬁﬁﬁé L

2|8 2 | K 2B HEER AT

3| A O|O] | 3 | K|2ZHEmBAZFEHER AT

AR ololl4]e fiﬁﬁiﬁx‘#‘ﬁﬁ

5|7k Oo|0o]|5|x

6| & ololls|R

(& O|o| | 7| B |extirzsmeny

8|x 8| K

9|H 9|k

10| A Al 10| K} |BAFFR

11| X Of |11 £| DR

12| 7K | B 1EIHET RN BAR (3,445 1K) O|0] |12|x

13| R|TAEETAZ 2 7| |13 B

14 & | ety | (14| R|MTR

15[ 15[ K |BAT A

16| B 16| 7k

17| A @D HA 17| &

18| Kk [B—T7T 18k 7] | 18| € |BAF H

19| K|a—ErTHEES 7] 19| £

20 7'( é%ggii:;i:%%@ﬁﬁ&) ﬁ 20( H

22|+ 22| %k

23| A 23| %k

24| A 24| K

25 &K 25 &

26| 7K 26| £

27| K 27| A

28| & 28| A

29| £ 29| K

30| A 30| 7k

31{ A ) BN N %?ﬁ%;“ﬁ

AL = HR(3,44F- 1) T = 2 (3,44 %)
%% ke

feoRRE AT ATE A BN




